a. €amee TOproBEnNH € JOMKEHD 1A WaATH
1000 rpom. mocab 6. roamum, 1o 5 ua 0/0 Thx®s
anxsa, Ho nouemxe Heraanb Anecs ga ru maaTH: Koa-
Koau amxsa cuemsa ? 100. rpowa, sa 6. rojuun go-
nocsars anxsa 30. rpomrt. Toro pasu sa 130 (saumo
ako peyewrs o1b 100, me nsssema 30 cb rphmasans)
nzemsame 30, na 1000. xoako? 130: 30 — 1000 : >
= 230 %, — 1000 = 769 + *°/_

6. Apyriii xynnan eana croka 3a 20000. rpo.
KOH-TO cdA, oGbimaas pa A maaru wocab eana roan-
Ha mpegba. Ho Koif-ro A mpojaab ocrasuab 10. na
o/o Thxb, camo ja my v naarH uplub, KOAHKOaAH e
maaru; 110 : 100 = 2000 : > = 18181, 32,
u 2 6orkn.

B. Apyrn gynuab eaua roprosuna 3a 515 rpo.
Aa ru maatu nocab, 6. wheanbl, nonemxe H3peraan,

Aa maara ubinh, n aa mssemnn 3 wa %) rhxm, xoa-
k0 maama; 103 : 100 = 515 : X< = 500.

I'JdABA 3.
CM'I_}HIEHHbII'/'l CIIOCOB'D.

Cwhburenuniii ca mmenysars onn cnoco6ubl, uphss
KOH - TO pasnin BHAOBBI cmhcBave BO €aHHD BHAH :
ToA cnocodb ca pasabaz ma gl cayuan.

NPABMNJAO.
IIEPBATO CAYYAA

Ilepsoms wanmucysame' jaemu TH BHAOBBI, Kak -
TO BB HPHAOMEHIE-TO, H HA JeCHA CTpana noaarame
uhua-ra Bcakomy. B. Vmuomasame BeaAgil BHAB OB
nbHa-ra HMB T Cb6upazue BHJOBBI-TH H NPOH3BEJjE-




